2024 JAFILEES ) — R FHE FE58

RALLY EAST-IBURI 2024

Sep 21 2024 - Sep 22 2024

ARVYJRT—URHRER (BE
[ Course |ASAHI 1 [Length m)] 213 ]
Stage Classification Total Classification
Pos | No Class | Pos| Driver / Co—Driver Time Diff (Prev) Km/h Pos No Class |Pos| Driver / Co-Driver | Time (Pen) |Diff (Prev)
1 36 OP 1 [ATF ZE— 1:26.7 -| 88.44 1] =136 oP 1 [ATF ZE— 6:04.7 -
BF #— BF #—
2 1 Ch-1 1 (R EA 1:28.4 +1.7| 86.74 2 | = 1 Ch-1 1 (BEE EA 6:11.3 +6. 6
Wil BEF (+1.7) W BF (+6. 6)
3 2 Ch-1 2 [EgE 1:28.6 +1.9] 86.55 3 |+ 2 Ch-1 2 [EgE 6:19.4 +14.7
& =& (+0. 2) & =& (+8. 1)
4 9 Ch-1 3 | Kk H— 1:29.5 +2.8| 85.68 4 |-1] 4 Ch-1 3 (KB E 6:19.7| +15.0
Bal =¥ (+0.9) ¥H EBES (+0. 3)
51 8] ol | 4 |BEE BA 12311 +4 4 8417 | [ 5| =] 9 | ot | 4 [KiE @— 6:21.5/ +16.8
BHx EBE (+1.6) Bl ERF (+1.8)
6 4 Ch-1 5 (K& & 1:31.5 +4.8] 83.80 6 =1 3 Ch-1 5 (luA #— 6:24.5] +19.8
#HH ES (+0. 4) MTF #£F (+3.0)
7 3 Ch-1 6 (LA #— 1:32.0 +5.3] 83.35 171 =17 Ch-1 6 |5H K 6:27.5| +22.8
MT RBF (+0.5) TR B (+3.0)
=71 7 Ch-1 6 [SH B 1:32.0 +5.3] 83.35 8 [+1] 5 Ch-1 7 [BREH = 6:38.6] +33.9
THE BHH (+0. 0) HOIEE (+11.1)
9 6 Ch-1 8 (&% oA 1:34.1 +1.4] 81.49 9 [+1] 12| cn 8 |ERE & 6:39.9] +35.2
FEH ik (+2.1) BERE bHhi (+1.3)
10 | 12 | ch- 9 (BElR % 1:34.2 +7.5] 81.40 10[-2] 25 [ Jr-t 1 [dkE #Bh 6:41.1] +36.4
BE bhix (+0.1) TR EF (+1.2)
11 5 ch-1 [ 10 [BRE = 1:34.6 +7.9] 81.06 1] =111 Ch-1 9 (2% EE 6:42.0 +37.3
B IEE (+0. 4) o 8F (+0.9)
12 | 11 Ch-1 11 .E,é‘é =] 1:35.5 +8.8| 80.29 12| +3| 8 Ch-1 10 |B3& BA 6:42.7 +38.0
a8 (+0.9) B EE (+0.7)
=12 | 26 Jr-1 1 [BEEH BEA 1:35.5 +8.8[ 80.29 13| = 6 Ch-1 1 |E#% A 6:44.2 +39.5
BR A (+0.0) FEH ik (+1.5)
14 | 31 | xc-2 | 1 BT # 1:36.3 +9.6] 79.63 14|-2] 16| c2 [ 1 |[=@ &= 6:46.2] +41.5
BE XI& (+0.8) &t BRE (+2.0)
15 | 16 | Ch-2 1 |ZEH #E{Z 1:36.6 +9.9[ 79.38 15 [ +1 [ 31 Xc-2 | 1 |&i5 W 6:48.2| +43.5
JIA BRE (+0. 3) = XK (+2.0)
16 | 19 Ch-2 2 R #HiE 1:37.1 +10.4| 78.97 16 | +1 | 26 Jr-1 2 ||RA ‘E)k 6:49.5 +44. 8
N EE (+0.5) Y (+1.3)
17 | 25 Jr-1 2 [kE N 1:37.3 +10.6] 78.81 17|-3| 14| ch2 | 2 |AA HE 6:49.8[ +45.1
R BEF (+0.2) Mg HEF (+0.3)
18 | 18 Ch-2 3 (i@ #®— 1:37.8 +11.1| 78.40 18] = | 20 Ch-3 1 [ZKX Bx 6:56.7 +52.0
IO $RER (+0.5) AR E=F (+6.9)
19 [ 14| ch2 | 4 [AE HE 1:38.8 +12.1] 77.61 19 =15 ch2 | 3 |8@ —== 7:00.5| +b5.8
Mg HEF (+1.0) FH BA (+3. 8)
20 | 20 Ch-3 1=K B 1:39.8 +13.1| 76.83 20 = | 21 Ch-3 2 [ EF 7:04.8| +1:00.1
AR =F (+1.0) XBHA MF (+4. 3)
21 10 Ch-1 12 |B5 &R 1:40.4 +13.7| 76.37 21 =] 19 Ch-2 4 |R thHB 7:04.9| +1:00.2
BiE EN (+0. 6) Nt fEE (+0. 1)
22 | 21 Ch-3 2 [ EF 1:40.8 +14.1| 76.07 22 | +1 | 18 Ch-2 5 [ILE #— 7:07.6| +1:02.9
XBHA MEF (+0. 4) A $RER (+2.7)
23 | 15 | o2 | 5 |[A@ —= 1:42.6] +15.9] 74.74 23] -1] 34| xc3 [ 1 [t #Bxk 7:13.3] +1:08.6
FH BA (+1.8) &Y EmF (+5.7)
24 | 13 Ch-1 13 (kO —&8 1:43.1 +16.4| 74.37 24| = | 23 Ch-4 1 |ZH = 7:17.2| +1:12.5
A & (+0.5) SEE M (+3.9)
25 [ 23| ch4 [ 1 [ZE@E = 1:44.6] +17.9] 73.31 5[+ [ 10 ] ch-1 [12][EH F=E 7:21.2] +1:16.5
BRE JES (+1.5) =% EN (+4.0)
26 | 32 | Xc2 | 2 [Z# A= 1:45.1 +18.4] 72.96 26| -1] 22| ¢ch3 | 3 |[zft #HE 7:26.3] +1:21.6
TH HE (+0. 5) Fx ERF (+5. 1)
27 [ 34| xc3 [ 1 [t§ %Rk 1:45.2 +18.5] 72.89 27(+1] 13 [ ¢ch1 |13 [luA@ —& 7:26.7| +1:22.0
&Y EmF (+0.1) BK # (+0.4)
28 [ 22 o3 | 3 |zt F:WE 1:46.6] +19.9] 71.93 | [28[-1] 32 | Xc2 | 2 |ZH# ®A= 7:26.8 +1:22.1
hf BF (+1.4) TH HE (+0. 1)
29 | 27 Jr-2 1 |INFFF ER 1:47.4 +20.7| 71.40 29| = | 24 Ch-4 2 [stH FR 7:32.1| +1:27.4
INEFEF HEF (+0. 8) by B (+5. 3)
30 | 24 Ch-4 2 [sx# FE 1:47.8 +21.11 71.13 30| =1 27 Jr-2 1 [\N&F EH 7:35.5| +1:30.8
s & (+0.4) NFE HEF (+3. 4)
31 | 29 Jr-2 2 |EF tHhEk 1:51.4]  +24.7] 68.83 31| = [ 30 [ xc- 1 [2H B T:47.2] +1:42.5
TH EX (+3.6) B = (+11.7)
32 | 17 Ch-2 6 |RDE ABF 1:52.1 +25.4| 68.40 32| =1 17 Ch-2 6 |RDE ABF 7:48.2| +1:43.5
mE LOS (+0.7) mE LS (+1.0)
33 | 30 [ xc- 1 (2H B 1:53. 1 +26.4] 67.80 | [ 33| =] 29 [ Jr2 2 [EF #H#E 7:50.2] +1:45.5
=IO (+1.0) hH EX (+2.0)
34 | 33 XC-2 3 |FiEE = 2:00.4 +33.7| 63.69 34| =1 33 XC-2 3 |FEE = 8:01.2| +1:56.5
BH &HIH (+8.3) BE HH (+13.0)
35 | 35 XC-3 2 INE #&Em 2:02.8 +36.1| 62.44 35| =1 35 XC-3 2 INE #&Em 8:25.6| +2:20.9
e +3% (+9.7) e +3% (+35. 4)
36 | 37 oP PR N 2:03.8] +37.1] 61.94 |[36| = | 37 oP 2 ([#F X# 8:36.3] +2:31.6
I (+1.0) AR ¥ (+10.7)
37 37
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